EoF R0 (M)

ROBEE LREV,

1) 64+(—3)x7 2 —8—(—-3)%9

@) 5X(=3)+(—4x(-8 4) 15+(=5—(—6)x(-3)

G} (—9YX(—6)+(—72)+(—8) 6 36+(—3)—96+=(—98
ROFEZE LREV,

1) —14(—4)x2 @2 9-—(—6)=3 3) 12+(—2)*-3

4) —5x(—3%+4) 5) (7°—4)+(-9)



ROHEZ L2 EV,

1) (=5°%—15+5 2) 35+(=7)—2%(-2)

3) —6x4—48+(—27 @) {—42+(—-2%=(-3)
KOFHBEZ LISV,

1) 3F¥—14+(-2) 2 (5°—=7)+(—6)

ROFHEZ LREW,
1) (—4)x(6-3) 2) (—5)%3—6+(—2) 3 (—49)+9=(-3)



[6] ROFEE Lz &Y,

(1) 9+4x(-3) 2 (—2)x(8=17)
B (=9)+(—6)+3 (4) 16—16+(—2)
(6) 3—62+(—2) 6) (—572—15+5
@) {10+(6—-15)}x(-2) 8 (=2)x(=37+(7-9)

SEERZE - T, ROFEZ LRIV,



ROFHEE LI,

1) —6*+4—(-3)

@) —3'—(-2)*%x(-3)

5) 2x(—3%)+18+(—3)*

(11) —3x5—(—2)>=8

2 9*°+4x(-5?)

4) 81+(—=3)%+(—2)

@ A==

® (-2°—(=9+5

12) (—4)*+=——6x(—42



